14

12



M 1O 0 o O

10
10
10

13
16
19

24
26
27

28
31

20
24
25
29



MAX-E

Di:

RC pp-3
D) pp.5
1.5
C.=min(C,,A)+C,
C, 45 1
1
A
MAX E ()
G,
pp-9
Fc=21 54N/mm’ pp.10
SD295A SD490 D13 D41
SD295A SD345 21 Fc 36 D10 D16
685 1275N/mm° 36 Fc 54 6 16mm
1275N/mm’ (c,)
785N/mm’
785N/mm’ 6 16mm
Gy 25F,
SD295A SD345 D10 D19
(R,) 1/50(rad) pp-13
quo QL+0~0 Qmu o, =1.1 pp]9
QSUO .
Q :
Qmu :
qul QL+0~1 Qmu o =12
qul :
qui QL+0~i Qmu o = 1.1 pp22
qui :
Tt Thu pp.13
Tt Thu' pp-20
RC
To:(QL+Qmu)/(b D) 007Fc pp14
Tcz(QL+Qmu)/(b Dc) 021Fc
b: D.:
Ti :(QL+Qmu)/(b Dl) OZIFC pp22




) 1, 0.05F, 1. 0.15F, pp-13
&  max{9t,/F-0.30, 91./(3F.)-0.30}
) 0.05F, t, 0.07F, T, 0.15F,
& 9t,/F.-0.30
) 1, 0.05F, 0.15F, 1. 0.21F,
&  9tJ/(3F,)-0.30
) 0.05F, 1, 0.07F,
0.15Fc 1e 0.21Fc
&  max{9t,/F-0.30, 91./(3F,)-0.30}
€ =(py Oy +Pg Oay)/F.
Py:Ovy (o, 25F)
Pa,Oy (04, 25F)
) Py Oby/F.  max 1,/Fe,t./(3F,)} pp-14
) Py Ony/Fe  T/F;
) Py Ony/Fe  T/(3F,)
) Py Ony/F.  max t,/Fe,t/(3F,)}
Pb s Oby *
LD 4 pp-16
1 1
D/3.5 300mm
D/3 D
D/3 200mm
D/3.5 1. 0.18F, pp-18
2.0D pp-23
1.0D
D/3 200mm
1 2 pp.16
Pa 2xpy Pa=2%py pp-16
Pv__ Pw
2
785N/mm?2
135
(9] 0.5% 1.2%
(Pa) 0.4% 1.2%
1 2
1/3

Py Ob 1.2 N/mm’

0.67D+2d, D: dy:




(

)

111

11.2

180°

90°

2001 9 19

113

BCJ

180°

RC0097




113



(D)

« ) « ) « )
1.5 (1.5D)
« ) « ) 1.2.1(a)
1.2.1(b)
C, =min(C,, A)+C, (1.2.1)
C, 45 1
C, C
1.2.2
A 1.2.1(b) 1.2.2
1.2.1(b)
111
C, 1.2.2
1.1.1 1.1.2
(1)
(2002.1)
(D) 1.2.1(a)
(1999.8)
1.5



< >
(D) |
(@)
(C. (C) =7
N\, I I
\‘\ | 7 \‘\ | /s
N v * C )\I/ N
(Hﬁ—m g e _/b__ .
7N (De) (D.) 0N
Z Z
/
(A) A)
(b)
1.2.1
()
a8y
= ) 1.2.2
p, mm(b-C, b‘CzJ ( )
V2 -a,
= 1.2.3
P b-C, ( )
ab(sin 6, +cos Qb) V2. a, sin(6), + 45)
Py = b.C = 0C (1.2.4)
) )
a, C, (mm?)
a, C, (mmz)
a, C, (mm?)
a, C, (mm?)
6, c) 6, =75°
b (mm)



122

1.2.3
pv Cl CZ a\/] aV2
Pa  Po C, C
1.2.2(a) A C,
o
(C) )
c, c <
N | > C, N ¢
oI Lt
c s e
A A
(@ C, A ©) C. A
1.2.2
CZ
(ay)
(a,)
e-'\lL-_"
cl
()~
(&)
1.2.3

1100mm

(12.2)

A,



0T 0

)

£ o000

o

r— I m®o®

To3 3

Q.

(mm) 1.2.1(b)
(mm’)
(mm?)
C, (mmz)
(mm?)
(mm?)
(mm)
(mm) ( 1.2.1(b) 1.2.2 )
(mm)
(mm) ( 1.2.1(b) )
(mm)
(mm)
(mm) ( 1.2.1(b) 1.2.3
(N/mm?)
(mm) ( 1.2.1(b) )
(mm) j=(7/8)d
(mm) ( 1.2.1(a) )
(1.2.4)
(1.2.3)
(1.2.2)
( ) p=100a/(b-d)
p,=a,/(b-s)
(N)
N)  (3.3.1)
(N)  (3.3.4)
(N)  (3.3.11)
(rad)
(rad)
(mm)
) 1.2.3
(N/mm?)
(N/mmz)
(N/mm?)
(N/mm?)
(N/mrnz)
(N/mm?)
(N/mm?)

122




(1)
2001

()

JASS 5
)

JASS 5

)
2001.3

1999.11

1999.8

1997.1




(D) JASS 5

) F. 21 N/mm? 54 N/mm?

(1) 2.2.1
2.2.1

SD295A, SD295B, SD345, SD390,

SD490 D13 D4l
SD295A, SD295B, SD345 ! D10 D16
2)
1
(685, 785N/mm> , 1275N/mm’ ) 6 16mm
SD295A, SD295B,SD345 D10 D19
785N/mm” 3 6 16mm
)21 F  36N/mm’
2)36 F.  54N/mm’
3) 785N/mm’ KSS785
() (o,) 25F,
25F,
(3)
222 (a)
222 (b)

10




222

(2) o, | (b) o
SD295A, SD295B 295N/mm’ 383.5N/mm’(1.30 5,,)
SD345 345N/mm> 431.3N/mm’*(1.25 o)
SD390 390N/mm’ 487.5N/mm*(1.25 5,)
SD490 490N/mm’
685N/mm” 685N/mm” -
785N/mm” 785N/mm’ -
785N/mm’ -
1275N/mm”*
1275N/mm’* -
SD490
SD490
1275N/mm?*
785N/mm”
785N/mm’ 1275N/mm?* 221 (a)
(b)135° (c)
(a)
(b)135° (d)

r—r—OﬂVx

([
\ J \ J \ J
(a) (b)135°

221

11

©

(d)

F 25F




361N/mm?’
SD345
)
(2002.1)
785N/mm?>
1275N/mm?
1275

SD490

490% 1.15=563.5N/mm°>

SD295A
SD345

BClJ RC0097

SD295A,SD295B,SD345,SD390
1275N/mm?

12

14

21 36N/mm’
36 60N/mm’



R, =0.02 =1/50 (rad)

3.1.1
(1)

Quo Qu+a,-Qy

Q0 (3.3.4)
Q.
a,
Q.. (3.3.1)
(2)
Tt Tw
7, (3.3.8)
- (3.3.9)
3.1.2
(1)
qul QL t+a 'Qmu
Q.. (3.3.11)
a
(2)
) S
) S
) S
) ¢

(3.1.1)

(3.3.10)

(3.1.3)

311

max{zr, /F, +0.1,7,/(3F.)+0.1}

9z,/F. 0.3
3z, /F, - 0.3

max(97,/F, —0.3,37,/F, —0.3)

N)

Q)

(z¢)

13

(N/mm?)

(3.1.1)
a,=1.1
(3.1.2)
(3.1.3)
a, =12

(3.1.4)
(3.1.5)
(3.1.6)
(3.1.7)




é:I ( pvavy ) ( pd O-dy )

(F) (3.1.8)
& =(p,oy + Pyoy)/Fe (3.1.8)
P, (1.2.2)
Py (1.2.3)
T\ (N/mm”) o, 25F,
T (N/mm?’) oy 25F,
3.1.2 (7,)
(7e) (3.1.9)
(3.1.10)
7,/F. =(Q +Q,)/(b-D-F,) 0.07 (3.1.9)
7./F.=(Q +Q,)/(b-D,-F,) 021 (3.1.10)
D, (mm) 3.1.2
(3)
3.1.1
) POy /F.  max{r,/F.,7,/GF.)] (3.1.11)
) PoOw/F.  7o/Fe (3.1.12)
) PyOuy/Fe  7o/(3F,) (3.1.13)
) Py /Fe max{z, /F. , 7,/ (3F.)} (3.1.14)
Py (1.2.4)
Ty (N/mm?)

To /Fc

) ‘ -
0.05

0 0.15 0.21
TelFe D

7,/F.  0.05 r,JF. 0.5
0.05 7,/F, 0.07 r,JF.  0.15 o
7,/F,  0.05 0.15 7,/F. 021

0.05 7,/F, 007 0.15 7,/F, 021

N N

311 312 7, 1,

14




)

()

3)

(&)

(R)

(po,)

S

311

S

N N =

(TO/FC

6.4

R, 0.02=1/50(rad)

p

R, =0.04 =1/25 (rad)

( pdady)
Te/Fc )

PuOy

7e/F

PuOy

( pbo-by )

15

7,/F, =0.07

TO/FC

(pp.142

(3.1.3)

162)



€)) 321
321
L/D
1 1
H D/3.5 300mm
A D/3 D
D, D/3 200mm
@
pd pv
pd = 2 x pv
Py Pu
Py p, 323
P, Py (1.2.2) (1.2.3)
3.2.3
p, 0.5% 1.2%
Py 0.4% 1.2%
®)
SD295A, SD295B, SD345 D10 D19
321
3.2.2
X 3.2.2
G 173 6

16




P, oy 1.2 (N/mm®) (3.2.1)
P, (1.2.4)

| e
P R
"AFT

T S 15T

At S [

)
K

3.2.1
L, D d, (3.2.2)
L, 0.67D+2d, (mm) (3.2.2)
3.2.3 L, L,
r d,
(G)
< X X X, G
3
| °
Ao |
|
i -
0,
___________ AN v b
Yy | x
e
@22y '
N
=
1

3.2.2 3.2.3

17




(1) L/D

(2)
H=D/3.5 300mm
A D/3
D/3
(r.)  (3.1.10) 0.21F,
D/3 (r,) (3.2.3)
D/3 5
D/3 5 (b D, 7,)
(z.) (3.2.3)
7,=(Q +Q,,)/(b-D.) 0.18F, =3/3.5x0.21F, (3.2.3)
D/3 D/3.5 0.21F, 0.18F,
200mm
3)
R,
4)
321
(
)
SD295A,SD295B,SD345
D10 DI19

18



10 (pp.290 )

15d,
R,
(L)
(d,) (3.2.2) L,
(3.2.2)
3.3.1 Qm
Q.. (3.3.1)

Qu =( M, +:M,)/L 3.3.1)

M, =09.a- 0o, .d (3.3.2)

<M, =0.9.8,,0,d (3.3.3)

L M u’R M u (N mm)
LA RS, (mm?)
1.0m
LOs L Oy (N/mm?) 222 (b)
Ld 5 Rd (mm)
L (mm)
3.3.2 Qu,
Quo (3.3.4)
R, =0.02 =1/50 (rad)

Quo = min(Qguor Quuor> Qus) (3.3.4)
quOI :(Iu pwe.awy).be.je (335)
Qui =4 v-F + Py -Gwy)-be- je/3 (3.3.6)
Ques =(1-v-F.)-b, -], /2 (3.3.7)

H p=21-10R,)

Pue Pue = ,/(0. )

a, (mm?)

b, 331

b, =b
b, (mm)
S (mm)
Ty (N/mm?) o, 25F,

19




Jo (mm) 3.31

A A=1-9/2-j.)-b,/(4],)
bS
b, =b./(N, —1) 33.1
NW
v v:(l—ZORp)‘vo
v, v, =0.7-F,/200
F, (N/mm?)
— -
D J
dy
L v
) Lb:b : b:bb
33.1
3.3.3 T, Tou
(1)
7, (3.3.8)
r, =d,Ac/{4(L, - D)} (3.3.8)
d, (mm)
Ao (N/mm?)
Ao =200,
Ao =150,
Ao =1.00,
o (N/mm?) 222 (b)
Ld
(mm)
D (mm)
(2) Tbu
r,  (3.3.9)
T, =, {(o.ossq +0.10)/F, + kg} (3.3.9)
. o - {0.75 +F. /400 )
1 ( )
b b = min(bsi N ¥ )

bsi :(b_ N, 'db)/(Nl 'db)

20




bci = {\/E(dcs + dct)_db }/db

d (mm) 3.3.1
d, (mm) 331
Nl
F. (N/mm?)
ksl
_ (54+45NW/N1)(bSI +1)pw (bci bsi)
- 14O'aw/’\lw/(db '5) (bci bs')
T (3.3.10)
Ty =0.6-2, {(0.085bsi2 +0.10)/F, + kﬂ} (3.3.10)
bsi2 bsiz :(b_Nz'db)/(N2'db)
ksz kstz = 99(bsi2 + 1)pw
N2
3.3.4 Q.
Q,  (3.3.11)
_[0.053p) " (F, +18)(. ﬂ) y
Qu, _{ M/ )5 0.12 (1 161 +0.85,/p,0,, + PgTy (b | (3.3.11)
P, ()
F. (N/mm?)
H (mm)
D (mm)
P, (1.2.2)
Py (1.2.3)
o, (N/mm?) o, 25F
Oy (N/mm?) o4 25K,
b (mm)
j (mm)
M/Qd 1 M/Qd 3
(1) Qm,
Q. (3.3.1)
L Im
(2) QSJO
Quuo (3.3.5)
0.02=1/50(rad) 6.4
(pp.154) ( 6.4.23) (  6.4.25) (1-10R))

21




(3.3.4)

a, 1.1
3)
6.8 (pp-175 )
Ts Thu
(Q +a,- Q)
Quo
Qub =Ty e (3.3.12)
T, =(1-10R ) (r,, 2y, + 7,2 w,)
R, (rad)
Tos (3.3.9) (N/mm?)
¥ (mm)
Tonr (3.3.10) (N/mm?)
v, (mm)
e (mm) 331
4) Qu
(3.3.11)
(2002.1)
al
(5)
( -121() )
(3.3.13)
Qu Qu+a-Qy (3.3.13)
Qui (3.3.15) (N)
Q (N)
Qi Qmu a, 1.1
Q.. (3.3.1) (N)
(7)
(3.1.14)
7/F.=(Q +Q,)/(b-D,-F,) 021 (3.3.14)
D, (mm)

22



Qu  (33.15)

23

0.053p"* (F +18)( Fi) .
= £ 1-1.61— |+ 0.85,/ + b- 3.3.15
Qui { M/(Q-d)+0.12 D POy + Py J ( )
(2002.1)
()
) )
) D/3.5
) 20D (D )
1.0D (D
) D, D/3 200mm
< >
(1.5D) (15D)
D35 D35
[
A S Y S 55 S i
!,< 2D S 1D >: Di
(@2D) ®)
(D)
3.3.2



180°

45°

411

crdEnE ke PR P B BeEEs) auead e

ol i T

il O

il ik ol Lo TR 0

of | ol ol sl i §
- " f] = F R

411

MAX

411

24



)

3.2

15d,

D16

)

412

I~

NI

|
Il

il

4.1.2

4.1.3

414

25



Al E D

PR R

““““““““““

414

415

(1) MAX

)
3)

MAX

(1) MAX

()
3)

26



421

42.1

4.1 (2) MAX
MAX 4.1 (2) MAX
4.1 (2) MAX
4.1
2.2
4.1
4.1 2)
4.1 2)
4.1 2)

27




5.1.1
(1)

2

5.1.2

5.1.3

BCJ

785N/mm?>
-RC0030 KSS785 MEPSPA( )

5.1

5.1
5.1
36,58 D6
1009 1259 150@ 175¢
2000 2500 3009 10,513 D10
S16 D13

28




5.1.4

5.1
5.2
(mm)
A B c d e f g I 1, ko)
S6-2R | 175 247 34 51 3% 36 282 308 | 0.45
100y | 2R | 180 276 35 68 48 48 300 34 | 0.76
S10-2R | 200 320 2 85 60 60 345 382 | 1.29
S13-2R | 220 363 52 111 65 78 376 403 | 2.42
S6-2R | 200 272 34 51 3% 3 317 342 | 0.50
1osp | S| 205 301 35 68 48 48 335 369 | 0.84
SI0-2R | 225 345 7 85 60 60 380 417 | 1.41
SI3-2R | 245 388 52 111 65 78 411 438 | 2.62
S6-2R | 230 302 34 51 3 36 360 386 | 0.55
1s0p | SR | 230 326 35 68 48 48 370 405 | 0.91
SI0-2R | 250 370 ) 85 60 60 415 453 | 1.52
S13-2R 270 413 52 111 65 78 447 474 2.81
S6-2R | 255 327 34 51 3 36 305 420 | 0.60
175p | SR | 255 351 35 68 48 48 405 440 | 0.99
SI0-2R | 275 305 7 85 60 60 450 488 | 1.62
S13-2R | 295 438 52 111 65 78 482 509 | 3.01
S6-2R | 280 352 34 51 3 36 430 456 | 0.65
S8-2R | 280 376 35 68 48 48 440 475 | 1.07
2o0p | S02R | 300 420 7 85 60 60 485 524 | 1.74
S13-2R 320 463 52 111 65 78 517 544 3.21
S16-2R | 340 516 62 136 80 9% 561 504 | 5.55
SI6-3R | 340 500 676 62 136 80 9% 707 707 | 9.20
S8-2R | 330 426 35 68 48 48 510 546 | 1.23
S10-2R | 350 470 7 85 60 60 555 504 | 1.96
2500 S13-2R 370 513 52 111 65 78 588 615 3.61
S16-2R 390 566 62 136 80 96 632 665 6.17
S16-3R 390 550 726 62 136 80 96 778 778 10.14
S8-2R 385 481 35 68 48 48 590 624 1.38
S10-2R 400 520 42 85 60 60 625 665 1.74
300 S13-2R 420 563 52 111 65 78 659 685 4.01
S16-2R 440 616 62 136 80 96 702 735 6.80
S16-3R 440 600 776 62 136 80 96 849 849 11.07
5.1.5
(D
785N/mm>
BClJ -RC0030 KSS785
53
KSS785
P 3 S16

29




54

54
i n u
0.40 1.00 2.20 | 0.030| 0.02 0.10 0.80
5
1. + 1/24+ n/6+ i/40+ 1/5+ o/4+ /14
2.
5.5
55
mm cm kg/m
S6 6.35 2.0 0.3167 0.249 -8
S8 7.94 2.5 0.4951 0.389
S10 9.53 3.0 0.7133 0.560
6
S13 12.7 4.0 1.267 0.995
S16 15.9 5.0 1.986 1.560 5
5.6
5.6
N/mm?* N/mm’
8 180°
785 930
5
1 0.2
2. 8
(2)
JIS G3112
5.7

30




5.7

SD295A D6,D10,D13
JIS G3112
5.2.
3949
0994-43-4341
5-2
0245-85-1340
5.2.2

31




START

Y

NG

OK

~

NG

NG

OK

OK

M\

NG

E

NG

OK

NG

OK

<
<

NG

OK

NG

OK

NG

OK

END

END

1.1



11

3.21

221 222
221

(3.3.1)

319 10

(3.1.1)
(3.1.2)

(3.1.8)

(3.1.3)

(3.1.11 14)

(321 2)



(pvo-yy) (pdady)
(1) 11 - (ey)
1.1 N
& a,; TO/F:)
Z-e /F(‘
70/}1
bx D =500x 700mm
p,=18( )
H =200mm H/D =200/700=1/3.5
0O, =100kN
M/(Qd)=3.0
(1) &
PO, + DOy & 7,/ F. 1.2
all_ qué’;QL ( ll)
1.8
¢
1.6
A
. 1.4 —— FC24
8]
— Fc30
1.2 — — —— ) —
— FC36
Fc42
1.0 Fods
Fcs4 VW
08 }
a
0.6
0.03 0.04 0.05 0.06 0.07 0.08
T ,/F,
1.2
7,/F, =0.05 &
a, =12 a,'=1.2 & a, =12 a,
pvavy + pd O-dy al

7,/ F.

c



(2) pvavy + pd O-dy
1.2 a,'=12

TO/E: pvo-vy+pd0dy

= N
(3] o

y2n% vy+pd0 dy (N/mmz)
=
o

0
0.03 0.04 0.05 0.06 0.07 0.08
T ,/F.
1.3
TO/E' pv O-vy + pd Gdy
(p,=05% p, =0.4%)
(pv :12% pd :12%) pvo-vy +pdo-dy
1.1 1.3
11 po,+p,0,
DOy +P d0dy
N/t N/t N/ N/t
Fc24 295 (600)* 1 3.88 10.7
Fc30 295 (750)* 1 448 125
295 785 4.62 13.0
Feso 685 785 657 176
Fc42 4 685 785 6.57 17.6
*1 25Fc
Fc24  Fc30 7,/F, 0.05 PO, + D0,
Fc42 7,/F. PO, + DO,



(3) p b O-by

POy, To/Fc 14
TO/FL Pbo'by
POy, Fc24 7,/F. 0.05
pbo-by
3.0
€
£
Z 20
s
i ”
1.0 1
Pb O py ! '
10.062 10.075
0.0
0.03 0.04 0.05 0.06 0.07 0.08
T o /F.
1.4
(4)
TO/E: 007 TO/E: F‘L
bx D =500%x 700
F,=30N/mm*  7,/F, =0.075
F. 30N/mm? 36N/mm? z,/F. =0.062 z,/F.
7,/F. =0.062
bx D =605x 700 1.2
1.21 1.4 PO, + D0y PyO,
vavy + pdo-dy prby
pvavy + pd Gdy prby
1.3 F b



14

32
Fc=42N/mm?

10
SD490

11



211

bxD 500x700 o 0 0 0 0 T %7 °

4-D32 Sb39%0 | kbl ld-- ¢85

2-D32 SD390

1-D32 SD390
4-D32 SD390

4-D13@100 | SD295A

10-D10 SD295A 3:
24N/’
*—o o
5170mm 120 &
1d=596.7mm
H =200(mm) rd=608.0mm
A =250(mm)
¢=0(mm) 2.1.1

L/ D=5170/700=7.39 4.0
D, =(700- H )/2=250(mm)
H =200(mm) min (D/3.5,300, D-2D,)=min (200,300,233.4)=200 - OK
A=250(mm) D/3 4 D - OK

SD390
SD295A
24(N/mm?%) - OK

0,

0, =100(kN)
0,.

(SD390) 1.25 (SD295) 1.30
35mm

(3.3.2)
M, =09,q,-, L d
=0.9x {6% 794x 1.25x 390x 596.7 10x 71x 1.30x 295x 665}
=1410.2x 10%kN mm)
(3.3.3)
#M,=09za, -0, d
=0.9x 5x 794x 1.25x 390x 608.0
=1059.0x 103 kN mm)
(3.3.1)
0,.=(,M, +;, M,)/L =(1410.2+1059.0)x 1000/5170=2469.2/5170=477.6(kN)

(3.1.9)



7,/F. =(0, +0,,)/(hbDF.)=(100+477.6)x 1000 (500x 700x 24)=0.069<0.07 - OK
(3.1.10)
r,/F.=(Q, +0,,)/(bD,F,)=(100+477.6)x 1000 (500x 250x 24)=0.193<0.21 - OK

(3.1.1)

R, =0.02=1/50(rad)

#=2(1-10R  )=2x (1-10x 0.02)=1.6

b, b,=b=500(mm)
p..=a,/(b-s)=(4x 127)/(500x 100)=0.0102 =p,
»25F.) = min(295,25x 24)=295(N/mm?)
j, =700-2x 40-14=606(mm)
N,=4( )
b,=h,/(N, —1) =500/(4-1)=166.7(mm)
A=1-5/(2j,)~b,/(4],)=1-100/(2x 606)-166.7/(4x 606)=0.849
v,=0.7— F. /200 =0.7-24/200=0.58
v=(1-20R,) v,=(1-20x 0.02)x 0.58=0.348

c,,=min(c

(335) quOlz(/’l'pwe .O-wy)'be 'je
=(1.6x 0.0102x 295)x 500x 606=1458.8(kN)
(336) QSuOZ = (ﬂ’ Ve Fe + pwe ' O-wy) ' be ' ]e/3
=(0.849% 0.348x 24+0.0102x 295)x 500x 606 3=1020.1(kN)
(337) Qs‘ttOSz(ﬂ’.V.Fc)'be‘je/z
=(0.849x 0.348x 24)x 500x 606 2=1074.3(kN)
(3.3.4)
0..,=MiN(Q..01,0..0»,0..0;) = Min (1458.8,1020.1,1074.3)=1020.1(kN)
(3.1.1)
0, +a,-0,, =100+1.1x 477.6=625.4(kN)
Qo 9, +ay-0,. (3.1.1) - OK
(1-10R,)
(1-10R,)=(1-10x0.02) =0.8
4-D13@100 4-D13@125
4-D13@100
min p, b-j a

,_[0.053p%#(F, +18) ,
= ! £ 0.85,/p, .
quO { M/(Q i d)+ 012 + P Gwy b J

0.23
_ | 0.053x1.306° x(24+18) +0.85/0.0102x 295 + x 261.1x10°
30+0.12

=583.1(kN) O, +a,-0,, =625.4(kN)




a)
Ao =200, =2.0x 1.25x 390=975(N/mm°)
7, (3398)
r,=d,Ac/{A(L, —d)}=32x 975 {4x (5170-596.7)}=1.706(N/mm’)
b)
a, =0.75+ F, | 400 =0.75+24/400=0.81
d ., =75(mm)
d_, =75(mm)
Ny=4( )
b,=(b—N,-d,)/(N,-d,)=(500-4x 32) (4x 32)=2.906
b,=N2(d, +d,)-d,}/d, ={ 2 (75+75)-32} 32=5.629
b,=min(b,,b,) = min (2.906,5.629)=2.906
k,=(54+45-N,/N,)- (b, +1) p, =(54+45% 4 4)x (2.906+1)x 0.0102=3.944
r,, (339
7,,=,{0.085, +0.10)\F, +, |=0.81x {(0.085% 2.906+0.10) 24 +3.944} =4 572(N/mm’)
T, T, (3.1.2) - OK
O
a)
Ao =150 ,=15x 1.25x 390=731.3(N/mm’)
7, (338
7,=d,Ac[{4(L, -d)}=32x 7313 {4x (5170-596.7)}=1.279(N/mm°)
b)

N,=2( )
b,=(b-N,-d,)/(N,-d,)=(500-2x 32) (2x 32)=6.813

k,,=99(b, +1)p, =99 (6.813+1)x 0.0102=7.890

Ty (3.3.9)
z,.,=0.6a, {(0.0855“.2 +0.10)/F, +kst2}:O.6>< 0.81x {(0.085x 6.813+0.10) /24 +7.890}
=5.451(N/mm?)
T, T, (3.1.2) - OK

(3.3.12)
O0,=T,j,= (1_10Rp) (70, Zy1 +T,,,20,) ],
=0.8x (4.572x 400+5.451x 200)x 606=1415.1(kN)
0, +a,-0,,76254 0,+2,:0,, Qu

7,/F, =0.069 7,/F,=0.195
& (317)



& max[9(z,/F, —0.05)+0.15,9{r, /(3F,) — 0.05} + 0.15]
=max {9x (0.069-0.05)+0.15,9x (0.195/3-0.05)+0.15} = max (0.321,0.285)=0.321
(3.1.8)
req( p,o,, + p,o, =&, F,=0.321x 24=7.704(N/mm?)

P, 4

p,=100a, /(b-d) =100x 5x 794 (500% 608.0)=1.306
M/(Q-d)=(, M, +, M,)/(2-0-d)=(, M, +, M,)/{2x(0, +0,,)xd}
=(1410.2+1059.0)x 10° {2x (100+477.6)x 608.0}=3.516 3.0

H/D=1/3.5
b-j=500x 7 8x 596.7=261.1x 10%(mm?)
red( p,o,, + p,o,, )=7.704(N/mm?)

(3.3.11)

0.23

0.053p°%(F. +18) H .
= ! < 1-1.61— |+ 0.85, o+ b-
qul { M/(Qd)+012 ( D) pvo-vy pdo-dy } J

0.23
_ {0.053><1.306 x (24+18) (1— 1.61} . o.sﬂ} < 261 1107

3.0+0.12 35
=723.0(kN)
0, +a,-0  =100+1.2x 477.6=673.1(kN)
(3.1.3)
4-D13x 3 SD295A
2-S13x 3 KSS785
45
C,=C,=275(mm)
A =250(mm)
(1.2.1) C.=min(C,, 4) + C, = min (275,250)+275=525(mm)
a,=a,,=4x 127x 3=1524(mm’)
(1.2.2) po=min -2 42 |-1524 (500x 275)=0.0111
b-C,'b-C,
05 p( ) 12 . OK
pw = pwe :00102 pv pw - OK
a,=2x 126.7x 3=760.2(mm’)
(1.2.3) pd:%:(\/ﬁ x 760.2) (500 275)=0.0078
)
04  p,( ) 12 . OK

0.0078=p, 2p,=0.0222=0.0111x 2 - OK
o, =min (295, 25x 24)=min (295,600)=295 (N/mm?)
o, =Mmin (785, 25x 24 )=min (785,600)=600 (N/mm’)

p,0, +p,o, =0.0111x 295+0.0078x 600=7.955(N/mm?) 7.704(N/mm?) - OK

10



(3.1.14)
red( p,o,,) max(z,,7,/3)=max (0.069x 24,0.195/3x 24)=1.656(N/mm?)

6-D13 SD295A
a,=6x 127=762(mm°)
0,=75°
(1.2.4) p,= ab(s‘”zbgcoseb):mzx (0.966+0.259) (500 275)=0.0068
)
p,0,,=0.0068x 295=2.006(N/mm?) req(p,c,) - OK

( 3.6
D-80-D,-H/2 - 75— -
0, =Tan™ 3( 80-D, /) =Tan™ 3(700 75-250 200/2) :Tan’1(2.75)
H +50x2 200+5x%x2
6,=70.0°
x=(H+50%2)/3=100 192=6x32( ) - OK
6-D13

p,0,,=0.0068x 295=2.006(N/mm? 1.2(N/mm?) - OK
L, 067D+ 2d,=0.67x 700+2x 13=495(mm)

A pp.5
280(mm)=C, A =250(mm) A

4-D13x 3 =4x 3=12

x A/C,=12x 250 280=10.7
A 11

p,0,, + p,0, =1.955(N/mm?)

0.053p°%(F. +18) H
- ! € 1-1.61— |+0.85, + b
le { M/(Q i d)+ 012 D pvo-V}, pdo-d}' J

0.053x1.306°% x (24+18)(, 1.61 3
= 1- +0.85y/7.955 t x 261.1x10
{ 3.0+0.12 ( 35}

=732.9(kN)

(0., -0,)/0,, =(732.9-100.0)/477.6=1.33

11



14

221
b XD 650><800 ° ® d o ¢ ———— f“ 75® [ ) °
5-D38 P30 | ————— P * |9 & 100
3D38 SD39%0
2-D38 SD390
5D38 SD39%0
4-S13@150 | KSS785
10-D13 SD295A ;go
36N/mm B Tl
5850mm 0 -
1d=687.5mm
rd=696.4mm
H =200(mm) 221
A4=280(mm)
e=33(mm)

L/ D=5850/800=7.31 4.0
D, =D/2—-e— H/2=800/2-33-200/2=267(mm) max(D/3,200) - OK
H =200(mm) min (D/3.5,300, D—2D,)=min(229,300,266)=229 . OK
A=280(mm) D/3 4 D - OK

SD390
K SS785
36(N/mm?) - OK

0,

0, =100(kN)
0,.

yu

(SD390) 1.25 (SD295) 1.30
35mm
(33.2)
M, =09,qa,-, L d
=0.9x {8x 1140x 1.25x 390x 687.5 10x 127x 1.30x 295x 765}
=3086.3x 10%(kN mm)
(3.3.3)
=0.9;4, Cr d
=0.9x 7x 1140x 1.25x 390x 696.4
=2438.3x 10%kN mm)
(3.3.1)
0,.=(,M, +, M,)/L =(3086.3+2438.3)x 1000/5850=944.4(kN)

u
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(3.1.9)
7,/F. =(0, +0,,)/(bDF.)=(100+944.4)x 10° (650x 800x 36)=0.056<0.07 - OK
(3.1.10)

r,/F.=(Q0, +0,,)/(bD,F,)=(100+944.4)x 10> (650x 267x 36)=0.167<0.21 - OK

z,/F, =0.056 ,/F.=0.167
& (3LY)
& max|9(r,/F, —0.05)+0.15,9{r, /(3F.) - 0.05}+0.15]
=max {9x (0.056-0.05)+0.15,9x (0.167/3-0.05)+0.15} = max (0.204,0.201)=0.204
(3.1.8)
red( p,o,, + p,0, )= & - F,=0.204x 36=7.344(N/mnr’)

p,=100q, /(b-d) =100x 7x 1140 (650x 696.4)=1.763
M)(Q-d)=(,M, +, M,)/(2:Q-d)=(, M, +, M,)/{2x(Q, +0Q,,) xd}
=(3086.3+2438.3)x 10° {2x (100+944.4)x 696.4}=3.798 3.0
H/D=1/4
b-j=650x 7 8x 696.4=396.1x 10°(mm?)
red( p,o,, + p,o, )=7.344(N/mm?)
(3.3.11)

0.053p°%(F. +18) H
. ! € 1-1.61— |+0.85, + b
le { M/(Q i d)+ 012 D pvo-V}, pdo-d}' J

0.23
_ {0-053X 1763 x (36-+18) (1— 161) 4 0.85\/7.344} «396.1x10°

3.0+0.12 4

=1159.8(kN)
0, +a,-0, =100+1.2x 944.4=1233.3(kN)
(3.1.3)

4-S13%x 3 KSS785
2-S13x 4 KSS785

45
C,=292(mm) C,=358(mm)
A =280(mm)
(1.2.1) C,=min(C,, 4) + C,= min (358,280)+358=638(mm)
a,=a,,=4x 127x 3=1524(mm’)
(1.2.2) pV:min[i,iJ =1524 (650x 358)=0.0065
b-C,'b-C,
05 p () 12 - OK
p,, =0.0052 p, p, - OK
a,=2x 126.7x 4=1013.6(mm°)

13



V2.a,
b-C,
04 p,( ) 12 - OK
0.0062= p, 2p,=0.0130=0.0065x 2 - OK
o, =min (785, 25x 36)=min (785,900)=785 (N/mm°)
o, =Mmin (785, 25x 36 )=min(785,900)=785 (N/mm’)

=(J2 x 1013.6) (650x 358)=0.0062

(1.2.3) p,=

p,0, +p,o, =0.0065x 785+0.0062x 785=9.970(N/mm?)

0.053p°%(F. +18) H
q= L < 1-1.61— |+0.85,/ + b
le { M/(Qd)+012 D pvo-V}, pdo-d}' J

0.23
_ {0.053><1.763 x (36+18) (1_ 1.;31] 08 9_970} < 391.0x10°

3.0+0.12
=1293.6(kN)
0, +a,-0, =100+1.2x 944.4=1233.3(kN)
(3.1.3) OK
(3.1.14)

req( p,o,,) max{ z,,7,/3}=max (0.056x 36,0.168/3x 36)=2.016(N/mm?)

6-D16 SD345
a,=6x 199=1194(mm?)
0,=75°
(1.2.4) = “b(s'”Zb;COS‘gb)=1194x (0.966+0.259) (650x 358)=0.0063
)

p,0,,=0.0063x 345=2.174(N/mm?) req( p,0,) - OK

(2.6)
D-80-D, —H/2 —75-267-
0, =Tan™ 3( 80-D, /) =Tan™ 3(800 75267 200/2) :Tan’1(3.58)
H +50x%2 200+5x%2
0,=74.4°
a)
5016 Sl
p,0,=0.0063x 345=2.174(N/mm’) 12(N/mm’) - OK
L, 0.67D+2d,=0.67x 800+2x 16=568(mm)
b) A pp.5
358(mm)=C, 4 =280(mm) A
4-S13x 3 =4x 3=12
A x A/C,=12x 280 358=9.4
A 10

14



32 10

2.3.1 .—.—.—.—: AAAAA DN
¢ 110

bxD 650x850
5-D41 SD490
1-D41 SD490
SD490
5-D41 SD490
4-S13@150 | KSS785 g
10-D10 SD295A 145
42N/mm’ .,7_5. .7_;:
- d=751.7mm
rd=705.0mm
H =200(mm)
A4 =300(mm) 23.1
e=0(mm)

L/D=5500/850=6.47 4.0
D, =DJ2—e— H/2=850/2-0-200/2=325(mm) max (D/3,200) - OK
H =200(mm) min (D/3.5,300, D - 2D, )=min (243,300,200)=200 — OK
A=300(mm) D3 A4 D - OK

SD490
K SS785
42(N/mm?) - OK

0,

0, =120(kN)
Qmu

(SD490) 1.15 (SD295) 1.30
35mm
(3.3.2)
M, =09,q,-, L d
=0.9x {6x 1340x 1.15% 490x 751.7 5x 71x 1.30x 295x 815}
=3164.9x 10%kN mm)
(3.3.3)
#M,=09za, -0, d
=0.9x 5x 1340x 1.15x 490x 705.0
=2395.5x 103 kN mm)
(3.3.1)
0,.=(,M, +, M,)/L =(3164.9+2395.5)x 10*5500=1011.0(kN)

(3.1.9)

15



7,/F. =(0, +0,,)/(hDF,)=(120+1011.0)x 10> (650x 850x 42)=0.049<0.07 - OK
(3.1.10)
,/F.=(Q, +0,,)/(bD,F,)=(120+1011.0)x 10° (650x 325x 42)=0.127<0.21 - OK

(3.1.1)
R,=0.02=1/50(rad)
p=2(1-10R  )=2x (1-10x 0.02)=1.6
b, b, =650-40-7=603(mm)
p..=a,/(b, -s)=(4x 126.7)/(603x 150)=0.0056
p.=a,/(b-s)=(4x 126.7)/(650x 150)=0.0052
25F )= min(785,25x 42)=785(N/mm?)
J, =850-80-145+41+14=680(mm)
N,=4( )
b,=b,/(N, —1) =603/(4-1)=201.0(mm)
A=1-5/(2j,) b, /(4],)=1-150/(2x 680)-201.0/(4x 680)=0.816
v,=0.7— F. /200 =0.7-42/200=0.49
v=(1-20R,)-v,=(1-20x 0.02)x 0.49=0.294

c,,=min(c

wy !

(335) quOlz(/j'pwe .O-wy)‘be ‘je
=(1.6x 0.0056% 785)x 603x 680=2884.1(kN)
(336) Q.yltOZz(l'V'Fc-i_pwe .Uwy).be ]8/3
=(0.816x 0.294x 42+0.0056x 785)x 603x 680 3=1978.0(kN)
(337) quOSZ(A.V.Fc).be.je/z
=(0.816x 0.294x 42)x 603x 680 2=2065.8(kN)
(3.3.4)
0..0=MiN(Q,,01, 0,000+ O.u03) =Min (2884.1,1978.0,2065.8)=1978.0(kN)
(3.1.1)
0, +a,-0, =120+1.1x 1011.0=1232.1(kN)
quO QL + aO ' Qmu (311) - OK
(1-10R,)
(1-10R,) = (1-10x0.02) =0.8
4-S13@150 4-S13@175
4-S13@150
min p, b-j a

,_[0.053p#(F, +18) .
= ! £ 0.85,/p,, b-
QSMO { M/(Q i d)+ 012 + pw GWy J

0.23
_ | 0.053x1.462° x(42+18) | 0.851/0.0052x 785 ' x 401.1x 10°
3.0+0.12

=1134.7(kN) O, +a,-Q, =1232.1 (kN)
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Ao =200, =2.0x 1.15x 490=1127(N/mm?)
r,  (3.38)

r,=d,Ac[{AL, —d)}=41x 1127 {4x (5500-751.7)}=2.433(N/mm’)
b)

a,=0.75+ F, / 400 =0.75+42/400=0.855
d ., =75(mm)

d ., =80(mm)
N,=5( )

b,=(b-N,-d,)/(N, d,)=(650-5x 41) (5x 41)=2.171
b,=N2(d,, +d,)-d,}/d,={ V2 (75+80)-41} 41=4.346

b,=min(b,,b,)=min (2.171,4.346)=2.171

k,=(54+45-N,/N,)- (b, +1) p, =(54+45x 4 5)x (2.171+1)x 0.0052=1.484
z,,  (3.3.9)

z,, = ,{0.085h, + 0.10\/F. +k, }20.855>< {(0.085x 2.171+0.10) /42 +1.484} =2.845(N/mm?)
T, T, (3.1.2) - OK

a)
Ao =150 ,=15x 1.15x 490=845.3(N/mm’)

7, (338
t,=d,Ac/{A(L, —d)}=41x 845.3 {4x (5500-751.7)}=1.825(N/mm’)
b)

N,=1( )

b,,=(b-N,-d,)/(N,-d,)=(650-1x 41) (1x 41)=14.85
k,,=99(b., +1)p, =99x (14.85+1)x 0.0052=8.160
Ty (3.3.9)
z,,,=0.6a, {(0.085133,.2 +0.10)/F, +ks,2}:O.6>< 0.855x {(0.085x 14.85+0.10) v/42 +8.160}
=8.715(N/mm?)

T, T, (3.1.2) - OK

Ao =200, =2.0x 1.15x 490=1127(N/mm?)
r,  (338)

r,=d,Ac/{4(L, —d)}=41x 1127 {4x (5500-705.0)} =2.409(N/mm?)
b)
a,=1.0

d . =75(mm)

d ., =145(mm)
N,=5( )
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b,=(b—N,-d,)/(N, d,)=(650-5x 41) (5x 41)=2.171
b,=W2(d, +d,)-d, /d, ={ N2 (75+145)-41} 41=6.588
b,=min(b,,b,)=min (2.171,6.588)=2.171

k,=(54+45-N,/N,)-(b, +1) p, =(54+45x 4 5)x (2.171+1)x 0.0052=1.484

z,,  (33.9)
7, =, {0.085b, + 0.10)F, +,, |=1.0x {(0.085x 2.171+0.10) /42 +1.484} =3.328(N/mm?)
T, T, (3.1.2) - OK
z,/F, =0.049 1 /F,=0.127
& (315)
& max{ry/F, +0.1,7,/(3F.) +0.1}= max(0.049+ 0.1,0.127/3+0.1)= max(0.149 , 0.142) =0.149
(3.1.8)

red( p,o,, + p,0, )=&,  F,=0.149x 42=6.258(N/mm?)

D, a, d
p,=100a, /(b-d) =100x 5x 1340 (650x% 705.0)=1.462
M -d)=(, M, +, M,)[(2-0-d)=(, M, +, M,)/{2x(0, +0,,) xd}
=(3164.9+2395.5)x 10° {2x (120+1011.0)x 751.7}=3.270 3.0
H/D=4/17

b-j=650x 7 8x 705.0=401.0x 10%(mm?)
red( p,o,, + p 0, )=6.258(N/mm’)
b)

0.053p*(F, +18) H
il — - < 1-1.61— |+0.85,/ o+ b j
qul { M/(Qd)+012 D pvav}, pdo-dy .]

0.053x1.462°% x (42 + 18)( 1.61x 4) 5
= 1- +0.85/6.258 - x 401.0x 10
{ 3.0+0.12 17

=1129.7(kN)
0, +a,-0,,=120+1.2x 1011.0=1333.2(kN)
(3.1.3)

4-S13x 3 KSS785
2-S13x 4 KSS785

45
C,=280(mm) C,=345(mm)
A =300(mm)
(1.2.1) C,=min(C,, A) + C, = min (345,300)+345=645(mm)
a,=a,,=4x 126.7x 3=1520.4(mm°)
(1.2.2) p.= min[L,hj =1520.4 (650x 345)=0.0068
b-C,'b-C,

05 p () 12 ~  OK
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p,,=0.0052 p, p, - OK
a,=2x 126.7x 4=1013.6(mm°)

(1.2.3) pf%:(ﬁx 1013.6) (650 345)=0.0064
]
04  p,( ) 12 L oK
0.0064= p, 2p =0.0136=0.0068x 2 - OK
o, =min (785, 25x 42)=min (785,1050)=785 (N/mm?)

o, =min (785, 25x 42 )=min (785,1050)=785 (N/mm?)

p,0,, + p,0,, =0.0068x 785+0.0064x 785=10.36(N/mm?)
a)

0.053p°%(F. +18) H
= L e 1-1.61— |+0.85/p,0,, + b
Q.Yul { M/(Qd)+012 D pvavy pdo-dy J

0.23
_ {0.053>< 1.462°% x (42 +18) (1_ 1.6117>< 4] .08 10.36} < 40LOX10°

3.0+0.12

=1374.1(kN)
0, +a,-0,, =120+1.2x 1011.0=1333.2(kN)

(3.1.3) OK

(3.1.14)
req( p,o,) Maxiz, , 7, /3}=max(0.049x 42,0.127/3x 42) = max(2.0581.778) =2.058(N/mm?’)

6-D16 SD345
a,=6x 199=1194(mm?)
0,=75°
a,(sing, +cosé, )
124 =t 2 5
( ) Py b-C,

p,0,,=0.0065x 345=2.243(N/mm?) req( p,o,) - OK

=1194x (0.966+0.259) (650% 345)=0.0065

(2.6)
3(D-80-D, - H/Z)} B {3(850— 80— 325 200/2)

0, =Tan™
H +50x2 200+5x2

0,=73.8°

} = Tan *(3.45)

6-D16

0, =0.0065x 345=2.243(N/mm’) 1.2(N/mm’) - OK
L, 0.67D+2d,=0.67x 850+2x 16=602(mm)
b) A pp.5
345(mm)=C, A4=300(mm) A

4-S13x 3 =4x 3=12
A x A/C,=12x 300 345=10.4
A 11
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(4,) (L)

6,=75
1100mm
3.1
D, = max(D/3,200) ( 321
H,, =min(D/3.5300,D-2D,) ( 32
enex =D/2—(D, + H/2) ( 33
x=(H +50x%2)/3 ( 3.4
D-80-D —-H/2
0, = Tan_l( 80-D, / j ( 3.5)
X
X X _.. X
80 :
$ P
444444444 |
| 0,
|
|
i
D _.E._._*_\ — _'_il‘ ___________
e !
// \ = \
|
i
444444444 o \ |/
{ |
80 i
50 H 50
3.1
3.1
0()
D Dc Hmax € max X H(mm)
(mm) (mm) (mm) (mm) (mm) 0 50 | 100 | 150 | 200 | 250 | 300
500 200 (100) 0 66.7 81 76 69
600 200 171 14 90.5 84 80 76 71
700 233 200 17 100.0 85 82 79 75 71
800 267 229 19 1095 86 83 81 78 74
900 300 257 21 119.0 86 84 82 79 77 74
1000 333 286 24 1286 87 85 83 81 78 76
1100 367 (300) 33 1333 87 85 84 82 80 78 75
1200 400 (300) 50 133.3 87 86 84 83 81 79 77
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560mm

3.2 H 0,
1100mm 6,=75°
o, 0,=75°

h

P 3D-80-D, - H/2)
’ H +50x 2

(50mm)
(80mm)

90

1050mm

8,()

80 |

5t

65

0 50 100 150 200

3.2

350

15d,

15d, 3.3

3.3
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(

(

3.7)

3.7)

Sd,
D-80-D
= - ¢ +5d, ( 3.7
sing,
D,D, d, sing,
3.2
3.4
3.2
(mm)
D D10 D13 D16 D19
(mm) (mm) 50 65 80 95
500 236 286 301 316 331
600 338 383 403 418 433
700 410 460 475 490 505
800 476 526 541 556 571
900 542 592 607 622 637
1000 609 659 674 689 704
1100 676 726 741 756 771
1200 739 789 804 819 834
900
D19
D16
~ 800 | |D19 L,=0.67D+2d, D13
E D10
T 700 |
600 |
500
400
300
200
500 600 700 800 900 1100 1200
D (mm)
3.4



34 D
C )
L, 067D+2d,
3.3 3.2 ( 3.8 L,
L, 700mm ( 3.8
3.3 L,
( 38 Ly
(mm) D10 D13 D16 D19
500 1.24 1.20 1.16 1.13
600 1.09 1.06 1.04 1.02
700 1.06 1.04 1.02 1.00
800 1.06 1.04 1.02 1.00
900 1.05 1.04 1.02 1.01
1000 1.05 1.03 1.02 1.01
1100 1.04 1.03 1.02 1.01
1200 1.04 1.03 1.02 1.01
D H
3.6) L, ( 398
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RC

RC

Fc36
SD295A SD345
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